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Consider the parabolic paths of two soccer penalty
kicks, represented in the graph at right. One kick
covers a horizontal distance of 20 yards and reaches
a maximum height of 9 yards. The other kick covers
a horizontal distance of 24 yards, but only reaches a
maximum height of 6 yards.

Find an equation that describes the path of Y:\*
each kick.
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Consider the parabolic paths of two soccer penalty
kicks, represented in the graph at right. One kick
covers a-horizontal distance of 20 yards and reaches
a maximum height of 9 yards. The other kick covers
a horizontal distance of 24 yards, but only reaches a
maximum height of 6 yards.

Find an equation that describes the path of
each kick.
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Consider the parabolic paths of two soccer penalty
kicks, represented in the graph at right. One kick
covers a horizontal distance of 20 yards and reaches
a maximum height of 9 yards. The other kick covers
a horizontal distance of 24 yards, but only reaches a
maximum height of 6 yards.

Find an equation that describes the path of
each kick.

Consider the parabolic paths of two soccer penalty
kicks, represented in the graph at right. One kick
covers a horizontal distance of 20 yards and reaches
a maximum height of 9 yards. The other kick covers
a horizontal distance of 24 yards, but only reaches a
maximum height of 6 yards.

Find an equation that describes the path of
each kick.
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| will be passing out the LCQ solutions

4-30. Consider the graphs of f{x) = % (x-2)%+1and gx) =
2x% — 6x — 3 at right. Homework Help &

a. Write an equation that you could solve using points A
and B. What are the solutions to your equation?

Substitute them into your equation to show that they
work.

b. Are there any solutions to the equation in part (a) that
do not appear on the graph? Explain.

c. Write an equation that you could solve using point C. What does the solution to your

equation appear to be? Again, substitute your solution into the equation. How close
was your estimate?

d. What are the domains and ranges of f{x) and g(x)?
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hys

v Votdatre sclutions

because sometimes "good"
solutions are "naughty"
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Equations with radicals

called radical equations, commonly
have solutions that have extraneous
solutions
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4 .. 2225 27-28

26 a an optional problem, not for extra

credit.... just for the challenge (fun)
of it.




